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i. 53=5X5 X5
i. 45= X e e X s e X X
i, a®= XX
iv. mt= .. ...X ...l X X
v. pb= X e oo X e X X X s eer o
vii  (ab)® = ... XX o
vii.  (axb)?= ....2x....2
vii.  (mxn)2=m Xn
ix. (aXb Xc)2 = ... X.... X e e e
X. (pXq X1r)3 = X... X e v e
xi. (3 X2)2 = X
2) 0 DOBD
e (3 x5)2 33 x 53
e (4 x6)3 33 x 23 x 43
e (3 X2 x4)2 a’ X b? x c?
e (2 x3 x4)3 32 x 52
e (axb xc)? 22 x 3% x 42
e (3 x5)3 43 x 63
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1) B8 Busd»

i (0?2 |- (—x) X (—x)
i. (—1)% |_
i. (=53 |_
iv. (=8 |_
v. (=2)° |=
vii. (=43 |2

2) OB GENEHD

i (-2 |_ (-1) x (-1) _ (+1)
i. (=13 |- _
i.  (-1)* | = _
iv. (-5 |_= _
v. (D¢ |= -
vio (=2)? |- _
vii.  (=2)% | = -
vii.  (=2)* _
ix. (=2)° =
x. (=2)° -
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